ICS 23.100.40
J 20

A N RS 36 R [ E 5K bR dE

GB/T 9065.4—2020

RIEEHEZE WKEEX
5 4 #8457 B AL i

Connections for hydraulic fluid power—Hose fittings—Part 4.Stud ends

(ISO 12151-4:2007 ,Connections for hydraulic fluid power and general use—
Hose fittings—Part 4: Hose fittings with ISO 6149 metric stud ends, MOD)

2020-06-02 %% 2020-12-01 £ 1&

7

g
IS

HE
NN
A
A\
oSy
w3
E3
=
p=infc
N> &1
RE
3t






;
i

— o
=|

© o0 NN oY Ul s W

10
11

U] eveveereeneeeeeeeaeeaee e et et et eeeaaesee e e tee et eee see seese e s eee tee eee see seesesse e s nnneee
PTG HED ] FHSCE woevveerneeennnonnns
TRIBEFIGE S vvoveeoettosetaoessonssaoenuensstontessissossssrssaossvenestontossesoossossssoossuesuesantsesssonssossssoes
PEREZLSR ceeveveerrernniiinnnnn..

ATLG woveennevanennns

L

B

HAH B

== AR R I RRLRRLRL

T B I ++v veveeeeeveeseeseesee ee aecaeeheheote eaeeas es eas es et st st Set een sen seeaeeaeeaeebeeaebee e e e e e

BES A CRORHE RSO

BOAEHES5 GB/T 2878.1 KM L O J& Fol B 3 il L1 A 22 2E PRI «oeemveeennne
B3 T LR vv oo ooeseeoerereone see tet e e e s e he cee ses bae bas et s e e se s seseee see see tes tes bas banaes

GB/T 9065.4—2020

w DN DN D

(@al

© N o o ot






GB/T 9065.4—2020

[l

B

GB/T 9065 I fE8h 4 A He k)3 AR A1
—— 5 134y O T8 it 1 2 & 5
2 WA 24 HE R
5 3 Ay 2
5 A ER Ay MR U
—— 8 5 EAy 37
— % 6 Fh4r:60°HEIE .
ARHAr A GB/T 9065 fI5 4 #B4Y .
AR GB/T 1.1—2009 25 H A% 88 ) & &,
AR R4 FH E AR B R B R B 1SO 12151-4:2007¢ W E A% 3h Fil FE #4354 3
g3 R ISO 6149 23 il 884 v (19 B8 H2 k)
ARFAH 1SO 12151-4:2007 WIHF AR ME 22 5 R HJFEH T .
TR R T SO AR B A8 T LA AR 25 S R SR DS R 3R R A R LA
e P ROBRTE SR 2 TR T SO BRI
o B R A EPRARUER GB/T 193 ££% 7 1SO 261 (I 6.5) 5
FHZ: R % F E BRARMER) GB/T 2351 AR T 1SO 4397(ULES 1 8 .5.1);
B MR T E BRARER) GB/T 2878.2 A8 1 1SO 6149-2( WL 4.2.6.1) 5
B MR T E B AR R GB/T 2878.3 8% T 1SO 6149-3(I, 4.2.6.1) 5
FHZ5 R % FE BRAR MR GB/T 3103.1 8% 7 1SO 4759-1(W 6.2) 5
FAME k% F E BRFRAER) GB/T 7939 /8% T 1SO 6605( U 4.1.4.3) ;
FHZE R R 0 E BRARMER GB/T 10125 /8% 7 1SO 9227(W, 7.3) ;
FH 4R R 0 E BRARMER GB/T 17446 /8% T 1SO 5598 (LA 3 &)
o JH4 R R M EBRFRIER GB/T 26143 /88 T ISO 19879( I, 4.3),
———$ o b TR TR R (L 7.2)
AFRAY DAY T T B G A 2
BT AR AR
—MHIBR T 1 TR SCR T 2,
A4 R E AL Tl B A 24 .
AR 53 i 4 R S B AL H R 2 512 (SAC/TC 3 HHA,
AR R 43 AT < T T 5 SR A YRR IR A PR A L R TR O TR ML sh A PR A LA B 4R TR A
RBE AR B A BRAA 7 AL Tl A S AT 58 T A B R 77 8 0 A a4 0% B2 1 R #D
ARy FERFEN B o BTN S E R E S A E A T






GB/T 9065.4—2020

RIEEREE WEEL
5 4 8B4y . Bt w
1 B
GB/T 9065 HyACHB 5 HUAE T b R B 7 10 SRCHE S 4 ke (OB 01 ILI 1,4 GB/T 2878.2 0
GB/T 2878.3 BURE ) BRIk Rl 1 B A TSR R < Bk

R EHTAHRNEN 6.3 mm~38 mm BIEE (K4 GB/T 2351 IAFREE N,
e A A A B o AT U R .

3 1

/

(

Ui .
1— 0 (54 GB/T 2878.1);
22— Bk

3—iir O T2 BB % B i I8 M o (5 & GB/T 2878.2 5% GB/T 2878.3),

B 1 SR R R R S i R S BUR

2 MEHSIAXH

T EN SO X T A SO B R & AT A PR B R SR SO A0 BB AR IS B T AR S
o FLIRANTE H 80951 1 SO H o UAS CRLAE BT A A48 el 50 338 T4 Sk,

GB/T 193 ¥E@iEar HAHEBE RS (GB/T 193—2003,1S0 261:1998,MOD)

GB/T 2351 WS 80 &G04 4ME FECE WAR (GB/T 2351—2005,1S0 4397:1993,1DT)

GB/T 2878.2 WEfEzhiEsE RGBS O & Bl % & A ah O FZ AR 55 2 34 . B AR A
Ui (S %41 (GB/T 2878.2—2011,1S0 6149-2:2006, MOD)

GB/T 2878.3 WIEALshiE: K HIESH O & Bl % & 593k 1 A2 ke s 55 3 384 . 52 AU

1



GB/T 9065.4—2020

(L &%) (GB/T 2878.3—2017,1S0 6149-3:2006 , MOD)

GB/T 3103.1 BREMAZE 84 BRET A M A (GB/T 3103.1—2002, ISO 4759-1:2000,
IDT)

GB/T 7939 WIEHE M % ¥ (GB/T 7939—2008,1S0O 6605:2002, MOD)

GB/T 10125 ABESRFAJEMIXE $HZFER¥ (GB/T 10125—2012,1S0 9227:2006,1DT)

GB/T 17446 ki sh &4 Kot WIL(GB/T 17446—2012,1S0 5598:2008,IDT)

GB/T 26143 WEE#%L R EGB/T 26143—2010,1SO 19879:2010,1IDT)

3 RIBIEX
GB/T 17446 R E WA TERE iE FH T4 304,
4 HEREEK
4.1 I GB/T 7939 M, #C A R 0 35 2 AH N 55048 B0 AR BT B 5 PR B oKk
4.2 B RO TAE R S h B GB/T 2878.2 8¢ GB/T 2878.3 45 % 1) $2k T AE H 715 X B HLAK 1) 4K
B TAERE P BARME.,

4.3 BOEHSRHE T BN A GB/T 26143 MIHLE » B BB 07 16 ML AT & GB/T 7939 HY#L
TE o TENE IR A PRI B 1 Sk T RE R 32 AH S AR BOR BT Hh ML B B0 08K

o1

L

5.1 FEELMmAa TN “HEELS e EBES“GB/T 9065.47, JFEERMAF-".KEH
R R A RO RS (L 5.2) 582 50 — AN E BB AR -7, R 5 B I8 A B 51 R A0S (L 5.2) Rl AE
SR A AR (5 GB/T 2878.2 8 GB/T 2878.3) X ARRIKE NR (54 GB/T 2351),

T~ TG GB/T 2878.3 T RLE Y M18X 1.6 mm MR AT, AFREE NAE R 12.5 mm 1Y 907 34 5 ki &4
mF.

WA GB/T 9065.4-SDE-LM18x12. 5

AP AR

SR i 2 R AR R A o SR A ML A
e 2 A BB S

o v 5

Z R

5.2 MRS IIE 1,

T Bz i 1 5K %=
By} R St SD
2RI (GB/T 2878.3) I
EY]|
&Y (GB/T 2878.2) S
i S
90°%5 E




GB/T 9065.4—2020

6 i&it

6.1 &2 A 3 P& L A XA RSN A& BN A E 2 A2 3 BELE, IRV S GB/T 2878.2 &
GB/T 2878.3 H#LE B R F

fds
$d,
$d,

MR 5
b

5

1 AR S GB/T 2878.2 8 GB/T 2878.3,
2 MRS SHEZ MM ERE TR BT EA.
NN E ARTFR D,

B 2 HBZEHIRREELGSDS

T2 HEEBHBREELSDS RT®R AR =K

AFRIK ds*
PR . L, L,e S,

WO B LA o B ik
4, BTz | e | BN | BKRO | hex
M12X6.3 M12X1.5 6.3 3 4.18 6.18 9 61.5 17
M14 X8 M14X1.5 8 o 6.18 7.68 10 67.5 19
M16X10 M16X1.5 10 6 7.22 9.22 11 73 22
M18X12.5 M18X1.5 125 8 9.22 11.22 12 82.5 24
M22X16 M22 X 1.5 16 11 12.27 14.27 13 90 27
M27X19 M27 X 2 19 14 1.5.27 18.27 15 98.5 32
M33X 25 M33X2 25 19 20.33 23.33 18 106 41
M42 X 31.5 M42 X2 31.5 25 26.33 30.33 20 128.5 50
M48 X 38 M48 X2 38 31 32.39 36.39 21 161 55

Cd o PR E S 5 OB R TR Sk M R /NI AR BT I AR R RN T 0.9d .

" dy B RSERLAF A GB/T 2878.2 8¢ GB/T 2878.3 MM . d s IR /IMERLA/NTF do o d o Bl d 3 CBRFE S5 N AR 2Z [] B
W E W DL B g,

© L, AT e R Rt




GB/T 9065.4—2020

90°
o <
VR
3
3
3
’

bds

i 1. AR A AF A GB/T 2878.3,
2. HOE RSS2 Mg R R,
i 3 AE A Sk TR T R T O Y SR
© S FN R GRF R,

3 90°HE4E ik A] i [m) 3R E # 3k (SDE)

® 3 0B iERFIAEKE L (SDE) R~ & B B K
NPREK ds’

" | s ds* N L;¢ L S,

BB L B swie | k| Lot
/D R (%) hex.

d, L &%

M12X6.3 M12X1.5 6.3 3 6.18 41 30.5 11.1 17
M14X8 M14X1.5 8 5 7.68 43 33.5 11.1 19
M16X10 M16 X 1.5 10 6 9.22 43 38 11.6 22
M18X12.5 M18X 1.5 12.5 8 11.22 45 40 12.6 24
M22X 16 M22X1.5 16 11 14.27 57 42.5 12.8 27
M27X19 M27X2 19 14 18.27 60 51 15.8 32
M33X25 M33X2 25 19 23.33 65 53 15.8 41
M42X31.5 M42X2 31.5 25 30.33 70 58 15.8 50
M48X 38 M48X 2 38 31 36.39 77 63.5 17.3 55

o PO B A A RS O R AT Sk M BN AR A T B LS I N AR AR /N T 0.9d 5,
Y d B R SERIFE S GB/T 2878.2 8% GB/T 2878.3 MIMLAE »d s IR /N FREAR/INTF ds s
© Ly o A e IR RSt

6.2 NN R T AZBAAFE GB/T 3103.1 FRLE B 7 ik S 4 C.,
6.3 X T T B 2 IR 0 O B Sk P i 2 e A A 223 37,

6.4 HOE R K A H A R ST A 3 R A E

6.5 BUEHCKERmIRLAT S GB/T 193 BIMLE .




GB/T 9065.4—2020

7 HiE
7.1 mI

SRR e S AT o B v R AR U I o T A L RT E 2AS FRA  RE TT A
7.2 IEER

B Sk P L B T LB TS e B L R B RSB LA K HAt T BE £ R B R T RE RO Bl . B
A % TEDRLRS B2 A & GB/T 2878 Z 41, BiAE 75 A B » Ho Ay Jin T3 T i HLRS B2 I 6 12 Ra<<6.3 pm,
7.3 REAE

JIT A B A 2 R P 4 S 3 T RN SO R B O DAGE 2 B AR, B AR GB/T 10125 W RLE Ml 72 h
e ER 25 1, BRAR S B AU P S5 A P 7 ER 55 M A AR op AR AT AR A BT (85 BN AN
¥ . T B985 FRALER AL -

— A AR IE 5
1R A 5 BN 7S AR AR SR S L B8 1A PR FITIR SO T O 2 30 A6y Tt A 2 7™ i i 9 2 i 1 9 = B0 )R
PR A LR 1) 5

— HT AR YT A B A R R R A BT R LA AR T A X8R
— IR AR T B [ A G 7 B T RESR AR B

FENC AT S 18] o P08 370 30 17 e 6 3% 1) J65 ke

VE BB ER B0 50 SR . 2R 00 A T 0 I ) A 0 A TR B

7.4 {R3p

JO7 AT 24 4 75 PR 3P B 4 Sk SR L % S T SR S0 CRL A PN IR SR MR 8O A 3 32 8 Al A A L DL A
SR A A T DR . PRSI T LA R, LABT 1k 2 E G B

I

TiF

8 S

=|
o

5

M R ET W B i R AR R B
— RN (WL 5 )
LM B CIEBR B BT 5

—— B ER AR T

— TAEA s

— TAEE T

—— T AR B CA 46 1 5% I B A B B .

9 &

B Sk AR 5 N R K R BR C 9 1 36 7 48 PR R AR

R SR MR I 2 B UL B DL SR AL



GB/T 9065.4—2020

1 FRERRA

LIS GB/T 9065 BYAFR 3. WU i iy 78 1B 4 o5 7 it 5% AR B SO PP o AR i
B MRS B SR AF S GB/T 9065.4—20200 e i 4 A HSL 58 4 3840 18 Ak 0 )7,



GB/T 9065.4—2020

Mt R A
(FERHE M)
REHELS GB/T 2878.1 BlH By O HEZH M O R

BOEHSLS GB/T 2878.1 BIAEIRLZL O B % B 1 i 22 Ui 45 LI R WA

a)
b)
c)

d
e)
D
g)
h)

i)

PR B TS B TS Y 2R A RERS BR IR 37 1 B Sk

TERPC I FF T ORI W B3 Sk A A B S A 1, 0 R T B 0 RIR 0 0 A A 75 e )

IR B S BRI O JE R 3 IEIC 9 O T2 18 3l i T 22 3 7 4 3k i IR A o b L TR AN BE
DIkl O B 5

e O ¥ Bl Lo 4k AR A Bl e 2 1 1 1 5

LB LS E Ada) O JE R S IRE B, 38 M O 2 Rl A7 TR JTR Y T 5

R 2[Z WA Ada) I8 IR RE W4 ful 348

fE 3L DL Al Ta) IR B 5% 132 3k B33 101 S 187 42 fiok 3] 48

FLE ALZ DL Alla) 130 B 5% 123Kk I IR B 4k 55 — S 41 o) 7 S 45 1 O ) 437 L L e A P B AS
it 1

f 8 5[Z WA Ada) T — A0 T8 52 A 4 3k 22 B s 1 #f J8E D 1o PP 0L R B T 92 o o vy 42 3t
F18) 3 R K R R K T

Ky O 8 B2 U1 W slicBt i , B2 75 (32 T3 1 B9 T A, 1E 5 0 B E S22 LI ALL)

aﬁ%;

ALE 11— B8R | BN ERE | ME 33— FIFE
BB, O | T R e | BUR R R R
e e fir TE 22 58 B 3k 1| Ak E I D T

oy
i I (4 R

I 55 — i % 3¢ % | i 5— 4T BR %
e Xk 3 45 B TT B | Sk R AL E

B SR
R A IR C A

a)

B A1 AIARERERER

Al



GB/T 9065.4—2020

N\

b)
i
1— BRI A
22—
3I—OEmEHE,
B A1 (8D




[1]
agRins|
[2]
VSR
(3]
¢ YR 7Y
[4]
(5]
(6]
(7]

GB/T 9065.4—2020

2 £ X W
GB/T 2878.1—2011 WJEALEshiEE  HKRHIRLSCM O BB H A O Mgt m 4 15

GB/T 3683—2011 MREREAE R BTG MF 5L BUK 5L ACE I 895 22 9 20 5 i 24

GB/T 10544—2013 BEHE R PEHGIF Bk 5 i 14058 00 5 22 9 28 3 5 S BT AR
PR (EA

GB/T 15329.1-—2003 BIHE LEH G SWHSREESR 55 1 550 il ARk A
GB/T 159082009 KA RPAEHGM WEMAYHEEE MK

QC/T 757—2006 3 JH %51 438 HI B A 414

ISO 4039-1 Road vehicles—Pneumatic braking systems—Part 1. Pipes, male fittings and

tapped holes with facial sealing surface

L8]

ISO 4039-2 Road vehicles—Pneumatic braking systems—Part 2. Pipes, male fittings and

holes with conical sealing surface

[9]

ISO 11237-1 Rubber hoses and hose assemblies— Wire-braid-reinforced compact types for

hydraulic applications—Specification—Part 1. Oil-based fluid applications




GB/T 9065. 4-2020

o L /N VI
X tn U
RIEEEERE WEEL
$ 4 35 MR
GB/T 9065.4—2020

hOE bR e M A R R AT
At 5 T R BH XA PG 5 2 5(100029)
LB TP IR X = Bl Jb 16 5 (100045)
PIaE . www.spc.org.cn
fii 55 #4k . 400-168-0010
2020 4F 6 A5 —M

*

F45 . 155066 + 1-65290

RRER RNBR

GB/T 9065.4—2020





